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① EXAMPLE of CW COMPLEX · D-
T : THE INFINITE %

REGULAR THREE-
VALENT TREE. I
-

&ON-EXAMPLES :

(0) THE CANTOR SET

(2) THE EARRING SPACE ·
-

(3) THE TOPOLOGIST'SCIRCLE

⑪
c=((+)(n,0)+t (0, 1)
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,
teco ,13⑭I#
-
6)USCOMPLEXES
SUPPOSE Y IS ACW-COMPLEX . AcX Is A SECOMPLEX



IF (i) A IS CLOSED

AND (ii) A IS A UNION of CELLS of X.

Eme
EXAMPLE : X'"cX IS .A SUBCOMPLEX ,
-

EXAMPLE : S"HAS A CELL STRUCTURE X WITH APAIR of
-

CELLS IN EACH DIMENSION 0
,
1
,
2
,
---

,
n-1

,n . Also

X = gh. So FIND SEQUENCE SOCSICS'cSc--eghcSV

- & S?
WE CAN BUILD IRI = S"/yr-X
SQUOTIENT BY ANTIPODAL MAPI

SO I" HAS CELL STRUCTURE WFTH

A SINGLE CELL IN EACH DIMENSION.
--

⑪MANYUSEFUL FACTS SUPPOSE Y IS A CW COMPLEX.

POP SUPPOSE KCX IS COMPACT. THEN THERE IS

A FINITE SUBCOMPLEX AcX SO THAT KCA.
-

PROX IS NORMAL (THUS HAUSDORFEI

PROP X IS LOCALLY CONTRACTABLE
-

THAT IS : FOR ALL xEX ,
FOR ALL OPEN UCX

WITH XEU THERE IS SOME OPEN YCY So THAT

xEXcU , AND Y IS CONTRACTIBLE (V[ti)
EXAMPLE : 12 IS LOCALLY
-a CONTRACTIBLE .

Lik BIS
CONTRACTIBLE).



NNNEXAMPLES THE EARRING SPACE IS NOT LOCALLY
-

CONTRACTIBLE
,
At ITS BASEPOINT

-E
#E : LOCALLY CONTRACTIBLE IMPLIES LOCALLY CONNECTED.

SIMILARLYI THE TOPOLOGIST'S CIRCLE IS NOT
-

LOCALLY CONNECTED.

TROP SUPPOSE AcX IS A SUBCOMPLEX.DTHEN THERE IS UCX OPEN So

THAT ACU AND U DEF.RETRACTS TOA
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6) SUPPOSE X IS CW
. Suppose piY-X IS A

CNERING MAP. THEN THERE IS A CUNIQUE) LIFT

of THE CW-stRoNX To Y.
3) Suppose X IS CW . THEX IS PATH CONN

IF AND ONLY X"IS PATH CONN.

HERE IS OUR FINAL USEFUL FACT

THEOREM /PAGE97-KIND OfI SUPPOSEX IS CW.
-

SUPPOSE XoEX" THEN THE INCLUSION 1 : X
*-X

INDUCES i: , (Y! xo)= D
,
(X ,Xo)

ISOM .



IS:, ISDETERMINEDY THE TWO-SKELETON .

EXERCISES HAS A EW-COMPLEX STR WITH

EXACTLY A SINGLE O-CELL AND A SINGLE -CELL

② SHOW SY HAS A CW-COMPLEX STRUCTURE WITH

A HAIR Of R-CELLS IN DIMENSIONS R=0, 1 ,2,n.
() DEFINE IRP"= S"/X--X : THE QUOTIENT Of SY UNDER

THE ANTIPEDAL MAP. GIVE RIYA CW-COMPLEX STR .


